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(Part A) zZzw

ìX Distance Å Point P (2,3)Ð Point O (0,0) .1

1 (B) (A)

5 (D) (C)

XVertices� Points (7,9), (3,-7), (-3,3) .2

ISO Sceles Triangle (B) Equilatral Triangle (A)

Risht Angle ISO Sceles (D) Right Angle Triangle (C)

ìX Slop » Parallel LineÆ Xaxis .3

0 (B) 1 (A)

Not Defined (D) 2 (C)

ìX X Intercept Å Line 2x+3y-4=0 .4

3 (B) 2 (A)

0 (D) 4 (C)

Å®Z�ìX SolutionÆ Equation .5

2 (B) 1 (A)

4 (D) 3 (C)

ìX �A$ RootsÆ Z¤/ .6

(B) (A)

(D) (C)

-5, 3, 2 � Roots TÆ Equation z{ .7

(B) (A)

(D) (C)
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',Z',ìX .8

(B) 2 (A)

1 (D) (C)

ìX Value Å ìA$ Zzg Z¤/ .9

(B) (A)

None (D) (C)

',Z',ìX a 6,A$ x=a ì Maximum Value Å Z¤/ .10

(B) (A)

(D) (C)

',Z',ìX Value Å .11

(B) (A)

1-i (D) 1+i (C)

A$ Set B = {3, 5, 15, 18, 20) ìZzg Set A = {5, 15, 20, 30} Z¤/ .12

{30, 8, 3} (B) {3, 5, 15, 18, 20, 30} (A)

{5, 15, 20} (D) {2, 5, 15, 18, 20} (C)

ìX Value Å N ÆA$ NC18 = NC12 Z¤/ .13

12 (B) 20 (A)

30 (D) 6 (C)

ìX ìA$ Cube Root, Z¤/ .14

-128 (B) 128 (A)

-128 (D) 128 (C)
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ìX Value Å N ',Z',ìÂ N timesÆ 19th Term, 29th Term ìZzg (0) Zero, 9th Term Å A.P Z¤/ .15

3 (B) 2 (A)

5 (D) 4 (C)

ìX conjugate » .16

(B) (A)

Zy~ÐÃð7 (D) (C)

ìX Value Å .17

(B) (A)

0 (D) (C)

ìX Perpandicular Distance Å Line 7x+24y+15=0Ð (0, 0) .18

(B) (A)

(D) (C)

ìX Diatnce Å 4x+3y-25=0 Zzg 8x+6y+5=0 Parallels .19

(B) (A)

(D) (C)

�X RootsÆ Equation x2+x-6=0 .20

1, -2 (B) -2, 3 (A)

-3, 2 (D) -3, -2 (C)

ìX Angle ÆÖ@ x-y=2 Zzg Line x+y=1 .21

30o (B) 90o (A)

1o (D) 45o (C)
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= AxBA$ B={d, e} Zzg A={a, b, c} Z¤/ .22

{(a, b), (b, d)} (B) {(a, d), (a, e), (b, d) (b, e) (c, d) (c, e)} (A)

{b, c} (D) {(a, d)} (C)

ìX .23

Fractional Part Function (B) Greatest Integer Function (A)

Modular Function (D) Sgn (x) (C)

',Z',ìX ìA$ Z¤/ .24

(B) (A)

-3 (D) (C)

�ÇX f(x)=2x+3 ìÔA$ Defined, .25

One - One (B) Function (A)

Begective (D) Onto (C)

',Z',ìX F-1(x) ìA$ F(x)=e5x+13
Z¤/ .26

(B) (A)

(D) (C)

',Z',ìX gof(x)ì g(x)=x Zzg f(x) = x+2 Z¤/ .27

x+1 (B) x (A)

2x (D) x+2 (C)

ìX Domain Å .28

R (1} (B) R (A)

None (D) e (C)
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ìX Even Function Zy~Ãy� .29

f(x)=x4+x2+1 (B) f(x)=x4+3x+2 (A)

(D) f(x)=x3+x-2 (C)

ìX Period » Cosx + Sin2x .30

(B) (A)

(D) (C)

ìX Transpose » Rectangular Matrix .31

Diagonal Matrix (B) Rectangular Matrix (A)

Scalar Matrix (D) Square Matrix (C)

ìX A ìA$ Z¤/ .32

Singular Matrix (B) Zero Matrix (A)

0 (D) Non Singular Matrix (C)

',Z',ìX At ìA$ Symmetric Matrix Zq- A Z¤/ .33

(B) A (A)

Diagonal Matrix (D) 0 (C)

Åz�s#ìX first DerivativeÆ Function f(x) .34

(B) (A)

(D) (C)

ìX » .35

(B) (A)

(D) (C)
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',Z',ìX .36

3/10 (B) 3/2 (A)

Does Not Exist (D) 1/8 (C)

.37

(B) (A)

a (D) (C)

ìX Value Å .38

2 (B) 9 (A)

8 (D) 3 (C)

ìX Value Å .39

a/b (B) b/a (A)

b (D) a (C)

6,X __________ ì .40

x = 0 only (B) Every Where of x (A)

only (D) only (C)

�X Discontinous Points » .41

(B) (A)

(D) (C)

Å®Z�X�ÏX Diagonals~ Hexagon Zq- .42

6 (B) 5 (A)

8 (D) 9 (C)
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HìX Probability �äÅ Choose Ã VowelÐ Alphabet .43

(B) 21/26 (A)

3/4 (D) (C)

',Z',ìX ÆA$ ',Z',ì Z¤/ .44

(B) (A)

(D) (C)

A$ Z¤/ .45

(B) 0 (A)

(D) P+1 (C)

ìX Minimum Value Å .46

2 (B) 1 (A)

4 (D) 3 (C)

',Z',ìX .47

1 (B) 0 (A)

3 (D) 5 (C)

ìX Simplification » (x-1)6+(x+1)6 .48

2x6+30x4-30x2+2 (B) 2x6-3x4+30x2+2 (A)

2x6-30x4-30x2+2 (D) 2x6+30x4+30x2+2 (C)

',Z',ìX .49

(B) (A)

(D) (C)
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',Z',ìX .50

(B) (A)

(D) (C)

~�Ç? Order ³¾¢a¾Æ Multiplication ¢a¾¾Å 3x2 ¢a¾Zzg 2x3 .51

2x2 (B) 3x2 (A)

3x3 (D) 2x3 (C)

',Z',ì? sin (90o -x) .52

1-sin x (B) sin x (A)

cosec x (D) cos x (C)

»**xHì? Equation y=mx+c .53

Straight Line Equation (B) Quadratic Equation (A)

Parametric Equation (D) Cubic Equation (C)

¾Æ',Z',�Ç? log28 .54

16 (B) 64 (A)

3 (D) 4 (C)

ÐÁì? 4/3 ~ÐÃ̈K Fractions �g`fs .55

5/6 (B) 2/3 (A)

8/9 (D) 7/8 (C)

~ps�}X Radians Ã Degrees 135 .56

(B) (A)

(D) (C)

±Æ¤(̈D�X¯kgzx~±YVÅH�ì? 75 CY�XT~Ð 125 Zq-¯kgzx~ .57

0.4% (B) 0.6% (A)

40% (D) 60% (C)
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Z�§m,~Ã̈K��**ec? .58

1-1-2-3-5-8-13

26 (B) 21 (A)

41 (D) 31 (C)

a�VÃñäÆaXÚVÅ¢zg]�Ï? 140 4~ 140 a�VÃñZ�Â 7 4~ 7 ÚVä 7 Z¤/ .59

15 (B) 10 (A)

20 (D) 7 (C)

?+56=83-17 �Hì? Missing .60

15 (B) 10 (A)

20 (D) 12 (C)

�D�ÂW\ÃH**xAÇ? unscramble ÆwzsÃ ECEATHR Z¤/W\ .61

country (B) professor (A)

ocean (D) flower (C)

96 @ (4x3) + 8 @ 2 - 2=? .62

6 (B) 0 (A)

10 (D) 12 (C)

qgzfs~ÐÃ̈K�&Ð(,Zì? .63

200/101 (B) 200/102 (A)

200/104 (D) 200/103 (C)

H�Ç? Ratio » a:c ìÔÂ 21:6 Ratio » b:c ZzgZ¤/ 2:7 Ratio » a:b Z¤/ .64

7:21 (B) 2:6 (A)

1:3 (D) 1:1 (C)

Æ',Z',ìX 4x+2y ìÂ 2x+y=5 Z¤/ .65

8 (B) 5 (A)

10 (D) 9 (C)
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ì? Ratio ~Ã̈K',Z', Pairs qgzfs .66

2:5 and 4:10 (B) 1:5 and 1:10 (A)

1:6 and 2:6 (D) 2:5 and 2:10 (C)

³¢a�̂YìÂZq-]~Ä³¢a�̂}Ç? 5 Z¤/�Zð�iW�ñ²~ .67

360 (B) 36 (A)

36000 (D) 3600 (C)

F K O R T ____ Ã�b�F,KM~�l�,X Missing Letter .68

T (B) S (A)

V (D) U (C)

ì? Set �» Prime qgzfs~ÐÃ̈K .69

{1,3,5,7,11} (B) {0,1,3,5,7,9} (A)

{2,3,4,5,6} (D) {1,3,5,7,8} (C)

Æ',Z',�VÐ? Kilograms Ä tones 45 .70

450 kgs (B) 45 kgs (A)

45000 kgs (D) 4500 kgs (C)

?........ Ô104 Ô49 Ô16 Ô5 §m,~Z��Ã̈K�ÇX .71

115 (B) 181 (A)

141 (D) 161 (C)

¾Æ',Z',ì? Value Å .72

(B) (A)

(D) (C)

ÐÃ̈K97ì? Statement qgzfs .73

log (1 + 2 + 3) = log 2 + log 3 (B) log10 10=1 (A)

log (2 + 3) = log (2 x 3) (D) log10 1 = 0 (C)
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',Z',ì? .74

(B) (A)

(D) (C)

H�Ï? Value Å ab ìÂ a - b = 3 Zzg a2+b2=29 Z¤/ .75

12 (B) 10 (A)

15 (D) 18 (C)

? .76

295 (B) 2 (A)

643 (D) 4 (C)

ÅÆ',Z',�Ï? ÔÂ Z¤/ .77

20.46 (B) 13.41 (A)

22.35 (D) 21.66 (C)

Å®Z�X�Ï? Digits~ 264 ìÔÂ log 2=0.30103 Z¤/ .78

19 (B) 18 (A)

21 (D) 20 (C)

ÂÆwzs»ZEw�D�ñXZF,KM�ìÅY$Ëì? 'LEADER' .79

360 (B) 72 (A)

720 (D) 144 (C)

? = (935421 x 625) .80

584649125 (B) 584638125 (A)

575648125 (D) 585628125 (C)
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? = (12)3 x 64
@ 432 .81

5048 (B) 5084 (A)

5184 (D) 5148 (C)

¾Æ',Z',ì? .82

0.97 (B) 0.95 (A)

1.06 (D) 0.86 (C)

¾Æ',Z',�Ç? 0.04 x 0.0162 qgzis~ÐÃy .83

6.48 x 10-4 (B) 6.48 x 10-3 (A)

6.48 x 10-6 (D) 6.48 x 10-5 (C)

�$Ëì? Value ÅH P �g;ìÔÂ DivideÐ 12 �Æ 4864 x 9 P 2 Product Z¤/ .84

5 (B) 2 (A)

Zy~ÐÃð7 (D) 6 (C)

H�Ï? value Å x ÔÂ Z¤/ .85

1.44 (B) 0.0144 (A)

144 (D) 14.4 (C)

ÐÁ�? 50 �i PrimeÄ .86

15 (B) 14 (A)

17 (D) 16 (C)

? = 0.002 x 0.5 .87

0.01 (B) 0.1 (A)

0.0001 (D) 0.001 (C)

',Z',�Ï? ______ Value Å y ÔÂ log2 x = 10 Zzg logx y = 100 Z¤/ .88

2100 (B) 210 (A)

210000 (D) 21000 (C)
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Æ',Z',ì? _________ Value Å log2 16 .89

16 (B) 1/8 (A)

4 (D) 8 (C)

Hì? Unit Digit ~ (795 - 358) .90

4 (B) 0 (A)

7 (D) 6 (C)

? = (256)0.16 x (256)0.09 .91

16 (B) 4 (A)

256.25 (D) 64 (C)

Å®Z�X�Ï? Diagonals~ Quadrilateral Zq- .92

4 (B) 2 (A)

8 (D) 6 (C)

è�ñ? Product Ô13 Difference ìZzgZe 25 sum �z�i» .93

104 (B) 325 (A)

315 (D) 114 (C)

7�Y? Square �» Natural qgzfs~ÐZq-Ã̈K .94

75625 (B) 30976 (A)

143642 (D) 28561 (C)

Æ',Z',ì? _________ .95

232 (B) 132 (A)

253 (D) 242 (C)

4500 x ? = 3375 .96

1/4 (B) 2/5 (A)

3/5 (D) 3/4 (C)
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Ãè�ñ? Distance Æ�gxã Points Q(7, -4) Zzg P (2, 5) .97

(B) (A)

(D) (C)

? =K ìÔÂ Collinear Points C(6, 7) Zzg B(5, K) ÔA(2, 3) Z¤/ .98

5 (B) 3 (A)

6 (D) 8 (C)

Å®Z�X�Ï? Diagonals~ Decagon Zq- .99

8 (B) 7 (A)

10 (D) 35 (C)

2x - y = (3 / 4) x+6 Ãi�b: x .100

4(y + 0) /5 (B) (y + 6) /5 (A)

4(y - 6) /5 (D) (y + 6) (C)

///
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Rough Work
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